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“5.5.1.3 Temperature effect on minimum dead load output

The minimum dead load output of the load cell over the temperature range, as specified in 5.5.1.1 or
5.5.1.2, shall not vary by an amount greater than the apportionment factor, Py ¢, times the minimum load

cell verification interval, Vy,;,, for any change in ambient temperature of: 2 for load cells of class A; 5

for load cells of class B, C and D.”
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“5.5.1.3 Temperature effect on minimum dead load output
Maximum permissible error (mpe) for the minimum dead load output of the load cell over the
temperature range, as specified in 5.5.1.1 or 5.5.1.2, is estimated as follows:
The minimum dead load output difference related to the minimum load cell verification interval, V,,,
shall not be greater than the apportionment factor, P.c, for any change in ambient temperature of: 2°C for

load cells of class A; 5°C for load cells of class B, C and D.”
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Y=12000 Vyin=4.167¢g

Enax=50kg  1n,,=6000
1=8.332889  V =(Dmax-Dmin)/Nimax=(50000-0)/6000=8.333 P =0.7
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